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Question Id : 5362281 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (1 to 5)
Question Label : Comprehension

The table below provides data on the number of candidates who appeared (A) and qualified

(@) in a test during the years from 2014 to 2019 from five different zones J, K, L. M and N.
In accordance with the table, answer the questions 1- 5 :

Year — wise Number of Candidates from Different Zones

Zon J K L M N

L

Y*ear A Q A Q A Q A Q A Q

2014 320 | 250 | 350 | 140 | 380 | 220 | 420 | 240 | 620 | 260
2015 460 | 340 | 690 | 420 | 690 | 440 | 740 | 330 | 620 | 480
2016 650 | 490 | 770 | 450 | 590 | 480 | 830 | 560 | 640 | 420
2017 740 | 570 | 540 | 340 | 720 | 320 | 930 | 640 | 780 | 620
2018 880 | 480 | 660 | 520 | 860 | 680 | 1140 | 520 | 990 | 690
2019 920 | 560 | 1060 | 640 | 1030 | 740 | 1420 | 1140 | 1180 | 940

Sub questions

Question Number : 1 Question Id : 5362282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The difference between the number of candidates who appeared and qualified in the test
from Zone-M in the given period was the second lowest in the year ;

(1) 2014 (2) 2016
(3) 2017 (4) 2019
Options :
5362281. 1
5362282.2

5362283.3
5362284. 4

Question Number : 2 Question Id : 5362283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
The number of candidates who appeared in the test from Zone — K in the year 2017 was
approximately what percentage of the number of candidates who qualified the test from the
Zone — L in the year 2019:
(1) 88 % (2) 83%
(3) 73 % 4y 68 %
Options :
5362285. 1
5362286. 2
5362287.3
5362288. 4

Question Number : 3 Question Id : 5362284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What was the average number of candidates who appeared in the test from Zone — N over all
the years together?

(1) 810 (2) 815

(3) 825 (4) 805

Options :

5362289. 1

53622810.2

53622811. 3

53622812. 4

Question Number : 4 Question Id : 5362285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The ratio of the number of candidates who appeared in the test from the Zone — J in the
vear 2014 to the number of candidates who qualified the test from the Zone — M in the year
2016 was :

(1) 4:7 (2) 4:9

(3) 9:4 (4) 8:13

Options :

53622813. 1
53622814.2
53622815.3
53622816. 4

Question Number : 5 Question Id : 5362286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The total number of candidates who qualified the test in the year 2018 and 2019 together
was the second highest in the zone :
(1) J 2y N
(3) K 4y L
Options :
53622817. 1
53622818.2
53622819. 3
53622820. 4

Question Id : 5362281 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (1 to 5)



Question Label : Comprehension
ute fafa= & A 4, K L, M 3R N @ 99 2014 7 2019 % 20 et wfie § s 91 (A) 997 T09
U T (Q) AT Rl WM WEHl HAFRT e e § Iuewd B | Aters % AT, U (1-5)
I A

J K L M N
A | Q A Q A Q A Q A Q

2014 | 320 | 250 | 350 | 140 | 380 | 220 | 420 | 240 |620 | 260
2015 | 460 | 340 | 690 | 420 | 690 | 440 | 740 | 330 |620 |480
2016 | 650|490 | 770 | 450|590 | 480 | 830 | 560 |640 |420
2017 | 740 | 570 | 540 | 340|720 | 320|930 | 640 | 780 |620
2018 | 880 | 480 | 660 | 520 | 860 | 680 | 1140 | 520 | 990 | 690
2019 | 920 | 560 | 1060 | 640 | 1030 | 740 | 1420 | 1140 | 1180 | 940

Sub questions

Question Number : 1 Question Id : 5362282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

& Aty # M-&= | wE 4 a7 are 997 AT W T S i e & oo oS a9 q g

TEE = 9T

(1) 2014 (2) 2016
(3) 2017 4 2019

Options :

5362281. 1
5362282.2
5362283.3
5362284. 4

Question Number : 2 Question Id : 5362283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

a9 2017 § & — K o ofien | s34 9ot sefori i e ag 2019 8 & — Lo 9 ur n sy
o

(1) 8
(3) T

(2) 83%
(4) 68%

[T )

e =
=R

Q

Options :
5362285.
5362286.
5362287.
5362288.

AW N -

Question Number : 3 Question Id : 5362284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

?

T F W P A A ge § & N ¥ e 5 g are et $ i e w2

(1) 810 @ 815
3 825 (4) 805

Options :
5362289. 1
53622810.2
53622811.3
53622812. 4

Question Number : 4 Question Id : 5362285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



a8 2014 § J-#= & wan d a4 A e F1 Te w5 o 99 2016 § M-S # i mw
srertat it me i ge | o

(8] 4:7 (2) 4:9
(3) 9:4 (4y 8:13
Options :
53622813. 1
53622814.2
53622815.3
53622816. 4

Question Number : 5 Question Id : 5362286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
a9 2018 R 2019 = FAU v Y WiET H AW W0 N0 SeAEE R fel Sea TR A4E § g weE
SfeRan a1 7

(1) J 2 N
(3) K 4 L

Options :

53622817. 1

53622818.2

53622819. 3

53622820. 4

Sub-Section Number : 2
Sub-Section Id : 5362282
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5362287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

An open classroom environment marked by sharing and caring by teachers and students in

their interchanges will be most helpful for which level of teaching?

(1) Memory level (2) TUnderstanding level

(3) Reflective level (4) Autonomous development level

Options :

53622821. 1
53622822.2
53622823.3
53622824. 4

Question Number : 6 Question Id : 5362287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HEAT 1 e AT e ASAE Ud B A0E § Rl = 2 SN Uh-gal S T 7, U S
T A7 [ T R B Y

(1)  TE I (2) gy T
(3) Tl = (4) =T T T
Options :
53622821. 1
53622822.2
53622823.3
53622824. 4

Question Number : 7 Question Id : 5362288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which will be the correct hierarchical sequencing for the following types of learning?
(A) Diserimination learning

(B)  Signlearning

(0 Concept learning

(D) Problem solving learning

(E) Rule learning

Choose the correct answer from the options given below :
(1) (B). (A). (C). (E) and (D) (2) (A). (B). (E). (D) and (C)
(3) (D). (C). (B). (A) and (E) (4) (C). (D). (E). (A) and (B)
Options :
53622825. 1
53622826.2

53622827.3
53622828. 4

Question Number : 7 Question Id : 5362288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

R e e e e ool L e L e R e e 2 B T

(A)  feradie s
(B) TFa A

(C)  FEgwon wfm
(D) =9 A=A AfTrm
(B) T=m wifamm

= 51 T e B E HE B ghe
() (B (A). (0. (E) % (D) 2 (4. B). (E). (D) =7 (C)
(3) (D) (C). (B), (A) 51 (E) 4) (C). (D), (B). (A) 77 (B)
Options :
53622825. 1
53622826. 2
53622827.3
53622828. 4

Question Number : 8 Question Id : 5362289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following research forms, aims primarily at putting to use the theoretical
advances with an eye on exploring the potential for generalizability?

(1) Fundamental research (2) Evaluative research
(3) Action research (4) Applied research
Options :
53622829. 1
53622830.2
53622831.3
53622832. 4

Question Number : 8 Question Id : 5362289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AT FAT o foq0 A9 il @I T Figd 264 % @19 Feieatigd § 7 F w190 I g
EZia TG F T W A B e Y

(1)  offers oy (2) AT e
(3)  =mETEE Wy (4) T WY
Options :
53622829. 1
53622830. 2
53622831.3

53622832. 4



Question Number : 9 Question Id : 53622810 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following intellectual characteristics in a teacher need nurturing in order to
accomplish subjective well-being leading to effectiveness in motivating and inspiring
students of college level education?

(1) Cognitive intelligence related (2) Emotional intelligence related
(3) Social intelligence related (4) Spiritual intelligence related
Options :
53622833. 1
53622834.2

53622835.3
53622836. 4

Question Number : 9 Question Id : 53622810 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Terfammer T f fen § orer gftuls e w0 A 2§ o w affe od g e g
T S % feA ST A T i E wigh 0 H0E e T SISk B 7

(1)  TFHET dghg TEel (9)  wEETEE iy qE
(8) Tt dfg mEeEt (4) e "hg Tad
Options :
53622833, 1
53622834.2
53622835. 3
53622836. 4

Question Number : 10 Question Id : 53622811 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Given below are two statements :

StatementI: Instructional technologv iz a network of techniques pressed into service for
realizing instructional objectives.

Statement Il ;: Computer-aided instruction can replace the teacher if the goal of education is
personality development.

In the light of the above statements. choose the correct answer from the options given below

(1} Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 15 correct but Statement II is false

(4) Statement I is incorrect but Statement II is true

Options :
53622837.
53622838.
53622839.
53622840.

EV S

Question Number : 10 Question Id : 53622811 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
53622837. 1
53622838.2

53622839. 3
53622840. 4

Question Number : 11 Question Id : 53622812 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In a research project using ‘triangulation’ approach which of the following can form part of
the investigation on studying “parental participation, attitude and problems"?

(A) Interview

(B) Observation

(C) Tests

(D) Sociometry

(E) Focused group discussion

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only (2) (0. (B) and (D) only
(3) (C). (D) and (E) only (4}  (A). (B) and (E) only
Options :
53622841. 1
53622842.2
53622843.3
53622844. 4

Question Number : 11 Question Id : 53622812 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘Ta=a S9FE F AT F Al e afEr 8 Fefeafaa @ 5w atiaede aeied, st o
Tl F ATES A T AW A ol B Y
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Options :

53622841. 1



53622842.2
53622843.3
53622844. 4

Question Number : 12 Question Id : 53622813 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In which method of research the independent variable is manipulated to observe and
measure its effect on dependent variable?

(1) Ex-post facto method (2) Experimental method

(3) Case study method (4) Historical method

Options :

53622845. 1
53622846.2
53622847.3
53622848. 4

Question Number : 12 Question Id : 53622813 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tfafiag =0 o g Bl § =93 =9 =0 onfae =0 W S9E veE W 9ed v O #F T s=Een
T A A Y

()  wEr faf @) T
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Options :
53622845. 1
53622846.2
53622847.3
53622848. 4

Question Number : 13 Question Id : 53622814 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In which of the following there is considerable scope for violation of research ethics?
(A) Problem formulation

®B) Data interpretation

(C)  Hypothesis making

(D) Reporting of research results

(E) Using research tools prepared by others

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only (2)  (B). (C) and (D) only

(3) (B). (D) and (E) only (4) (C), (D) and (E) only

Options :

53622849. 1
53622850. 2
53622851.3
53622852. 4

Question Number : 13 Question Id : 53622814 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



fretieian | & Them oy Afawan & Tgaa & T JEE 27
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Options :

53622849. 1
53622850. 2
53622851.3
53622852. 4

Question Number : 14 Question Id : 53622815 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: A research hypothesis is a conjectural statement pestulating the relationship

among variables with a view to advance solution to the problem of study.

Statement IT: The Non-probability sampling procedures provide the best estimate for the

population parameter.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II is false

(4) Statement I is incorrect but Statement IT is true

Options :

53622853. 1
53622854.2
53622855.3
53622856. 4

Question Number : 14 Question Id : 53622815 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
53622853.
53622854.
53622855.
53622856.

AW =

Question Number : 15 Question Id : 53622816 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the characteristics in classroom teaching behavior as given below will be classified
as a part of formative assessment?

(A) The teacher azsks question to elicit classification from students.

(B) The teacher specifies the level of mastery attained by students.

(C) The teacher prompts and probes the students while making presentation.

(D) The teacher pauses for a few seconds. looks at students and asks questions.

(E) The teacher indicates performance criteria and given judgemental values.

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only (2) (A). (Cy and (D) only
(3) (B). (C) and (D) only (4) (C), (D) and (E) only
Options :

53622857. 1

53622858. 2

53622859. 3

53622860. 4

Question Number : 15 Question Id : 53622816 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

53622857. 1
53622858.2
53622859. 3
53622860. 4

Question Number : 16 Question Id : 53622817 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Poor listening by the audience leads to

(1) Appreciating the speaker (2) Wild imaginations

(3) Inaceurate inferences (4) Disrespecting the speaker
Options :
53622861. 1
53622862. 2

53622863. 3
53622864. 4

Question Number : 16 Question Id : 53622817 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

53622861. 1
53622862.2
53622863. 3
53622864. 4

Question Number : 17 Question Id : 53622818 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

TastI List IT
(Authors) (Communication concepts)
(A)  Anstotle (I} SMCR — Sender, Message, Channel —
receiver — Model
(B) Shannon and Weaver (II) Circular Communication
(C) Wilbur Schramm (III} Speaker — Centred Communication
(D) David Berlo (IV) Top-down. Linear communication

Choose the correct answer from the options given below :

(1) (D)@, B)-IAD. (C)-I1D), (D}-IV)
(2) (A)-(ID, (B)-(IID), (O)-(IV), (D)-D)
(3)  (A)-(II). (B)-(IV). (C)-AD). (D)-(T)
(4) (A)-IV). B)-D). (C)-(1I). (D)-ID

Options :

53622865. 1
53622866. 2
53622867.3
53622868. 4

Question Number : 17 Question Id : 53622818 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

i1 0 geil-I1 & Hafer =it
T 1T
() (e =t
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(B) T i A @) e ==
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(1) A-D. B)-1D. (C)-1I), (D)-IV)
(2) (A)-(ID). (B)-(IID). (C)-aAV). (D)-(D
(3) (A)-IID). (B)-(IV), (O)-AD), (D)-(D
(4) (A)-(IV), (B)-(I). (C)-(I1I). (D)-(IT)

Options :

53622865. 1
53622866. 2
53622867. 3
53622868. 4

Question Number : 18 Question Id : 53622819 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Identify the chronological sequence of the following countries opting for educational

broadcasting channels
(A) Great Britain

(B) The United States
(C)  Australia

D) India

(E) Canada

Choose the correct answer from the options given below :
(1) (B). (A). (E). (C). (D) (2) (0). (D), (E). (A). (B)

(3) (D). (E). (B}, (C). (A) 4 (A (B). D), (E).(C)

Options :

53622869. 1
53622870.2
53622871.3
53622872. 4

Question Number : 18 Question Id : 53622819 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ST TEWE Sl g AT e 29 o e W i i |
A =t

®B) TS TR

(C)  =i=fern
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(E) ==
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(1) (B). (A). (E). (C). (D) ) (0). (D). (E). (A). (B)

3y (D) (E) B).(C) (A) (4} (A). (B), (D). (E). (C)

Options :

53622869. 1
53622870. 2
53622871.3
53622872. 4

Question Number : 19 Question Id : 53622820 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Free and unlimited use of non-verbal cues enhance the communicative

azpects of classroom teaching.

Statement II : A pleasant persona of the teacher enlivens the classroom eco-system.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I 15 correct but Statement II is false

(4) Statement I 15 incorrect but Statement IT is true

Options :

53622873. 1
53622874.2
53622875.3
53622876. 4

Question Number : 19 Question Id : 53622820 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

53622873. 1
53622874.2
53622875.3
53622876. 4

Question Number : 20 Question Id : 53622821 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The consequences of effective classroom communication are

(A) Enhanced expectations of teacher from students
B) Learning as satisfying pursuit

(C) Increased promotional prospects for teachers
(D) Enabling students to achieve goals

(E) Positive learning outcomes

Choose the correct answer from the options given below :
(1) (A). (B). (C) only (2) (B). (C). (D) only
(3)  (C). (D). (E) only (49)  (B). (D). (E) only

Options :

53622877. 1
53622878.2
53622879. 3
53622880. 4

Question Number : 20 Question Id : 53622821 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FeAT T WU HEN % °E gy g
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Options :

53622877. 1
53622878.2
53622879. 3
53622880. 4

Question Number : 21 Question Id : 53622822 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What part of 1 is E'?
12 8

(1) (2)

-
m|'—‘ 1| ea
ol ol

(3) )
Options :

53622881. 1

53622882.2

53622883.3

53622884. 4

Question Number : 21 Question Id : 53622822 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
53622881.
53622882.
53622883.
53622884.

AW -

Question Number : 22 Question Id : 53622823 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Rajiv, Sanjiv and Vijay join a running race. The distance 1z 1500 meters. Rajiv beats Sanjiv
by 30 meters and Viay by 100 meters. By how much could Sanjiv beat Vijay over the full
distance if they both ran as before?

(1) 72.3 meters (2)  T71.5 meters
(3) 71.4 meters (4y 70.2 meters
Options :
53622885. 1
53622886. 2

53622887. 3
53622888. 4

Question Number : 22 Question Id : 53622823 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T, Teg @ g 9 v g afaEitr A wm o, e e gt 1500 i, 2 e T FEE w
30 1. T ¥z o5 F@E A F 100 W T 9 oI5| T 50 vt ¥ w6, T e e
T 2 wiear fE =M 3 Tee S 2 B

[§5) 72.3 . (2) 71.54

(3) T1.4 i, (4 7027

Options :

53622885. 1

53622886. 2

53622887. 3
53622888. 4

Question Number : 23 Question Id : 53622824 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: If you know the length of two sides of a right angled triangle then the length
of the third side can not be found.

Statement I : The internal angles of a triangle add upto 180°,

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement IT are false

(3) Statement I is correct but Statement II is false
(4) Statement I 1s incorrect but Statement II is true
Options :

53622889. 1
53622890. 2



53622891. 3
53622892. 4

Question Number : 23 Question Id : 53622824 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
T A

Fu (I1) : Torel f1s= = ;1 =60 =3 180° =ra1 2 |

STEFA FYA F AEH A SR [Ged] § H wR T A

() ¥ 1ot T2 751 2 |
(2) w9 IR M 2E =9 & |
(3)  wyF I5e % fohg w9 11 7Te 2 |
4 w1 3w & g o L 2 |
Options :
53622889.
53622890.

1
2
53622891. 3
53622892. 4

Question Number : 24 Question Id : 53622825 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The given equation becomes correct after interchanging two signs. One of the four
alternatives under it specifies the interchange of signs in the equation which when made will
make the equation correct.

Find the correct alternative?

94+H-4%x3-6=12
(1) + and — (2) = and —
(3) + and x 4y = and =
Options :
53622893. 1
53622894. 2

53622895. 3
53622896. 4

Question Number : 24 Question Id : 53622825 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fagt =1 wE § T TREes w1 8 5 T o 9E A 9 2| T e =R fHEew § w

faffe 2 & mim o el @ 35 2 34 9iEaT - TR ST, SEEE JE R A |

9+h=4x3-6=12

(1)  + 3% - @ =3 —

(3 + 3T % @) = offtx

Options :

53622893. 1
53622894.2
53622895. 3
53622896. 4

Question Number : 25 Question Id : 53622826 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Find the odd one out in following sequence :
1. 5. 14. 30. 50, 55, 91
(1) 14 (2) 30
(3 50 (4) B85
Options :
53622897. 1
53622898. 2

53622899. 3
536228100. 4

Question Number : 25 Question Id : 53622826 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

I il

Frfafaa aoft 4 @ fardm o9 =3
1. 5. 14, 30. 50, 55. 91
(1) 14 (2) 30
(3) 50 (4) 55
Options :
53622897. 1
53622898. 2

53622899. 3
536228100. 4

Question Number : 26 Question Id : 53622827 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

“Fat Krishnadatta eats either during day or night, Fat Krishnadatta does not eat during
day, therefore fat Krishnadatta eats during night”.

The above is an example of which type of inference?

(1) Comparison (upmana) (2) Verbal testimony (Shabda)
(3) Negation (Anupalabdhi) (4) TImplication (Arthapatti)
Options :

536228101. 1
536228102. 2
536228103. 3
536228104. 4

Question Number : 26 Question Id : 53622827 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
“HeT FOTE A A T W W 2 wYa1 T 3, e FnEe 99 ° 92 @, 99 2ie FOedl O 0
. ﬁ ln

ST ZETeA Rl U T e 27

(1) 9o (3TH) (2) =rfEs T ()
(3) @A (FTEE) (&) Tafeard (sAedufa)
Options :

536228101. 1
536228102. 2
536228103. 3
536228104. 4

Question Number : 27 Question Id : 53622828 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A and B play Football, Cricket and Hockey. B and C play Hockey and Badminton. C and D
play Badminton and Tennis. D and A play Football, Cricket and Tennis. Find out the correct
answer among the following :

(A) C does not play Cricket

(B) B and D both play Tennis

(©) A plays football, Cricket and Badminton

(D) A, Band D play Football and Cricket

(E) Except B all play Tennis

Choose the most appropriate answer from the options given below :

(1) (A), (B) and (E) only (2) (A), (D) and (E) only
(3) (A), (B) and (C) only (4) (C), (D) and (E) only
Options :

536228105. 1
536228106. 2
536228107. 3
536228108. 4

Question Number : 27 Question Id : 53622828 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A 3Tt B weare, e a91 71 ded 7| B 3 C 7l 31 dsiied @ed # | C #iR D ssfiza i 2Fm
T 2 | D ot A A, Bz A 2 we ) (Fefafes 9 3 od = 9t

(A) C e 97 T 7 |

(B) B3R DIA 2T @erd 2|

(C) A vew, e au st wem 7 |

(D) A, B D e a9 e @

(E) B wiaisd ool 2fm m@em £ |

i1 fo ™ feepet o HaitaE S9gEd 3 9

(1) = (A). (B) 311 (B) 2) a9 (A). (D) 37 (B)
(3) &4 (A), (B) 3 (C) (4 a4 (C). (D) = (B)
Options :

536228105. 1
536228106. 2
536228107. 3
536228108. 4

Question Number : 28 Question Id : 53622829 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What will come in place of the question mark (?) in the following series?

U,0,12 A
(1) M 2 B
(3) B 4) E
Options :

536228109. 1
536228110. 2
536228111.3



536228112. 4

Question Number : 28 Question Id : 53622829 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FATetEa 9EeT 8 I99 He % T4 O 9 A

U, 0. L?A

1y M 2 G
3 B (4 E
Options :

536228109. 1
536228110. 2
536228111.3
536228112. 4

Question Number : 29 Question Id : 53622830 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

If the day before yesterday was Friday, what will be the third day after the day after
tomorrow?

(1) Friday (2) Saturday
(3) Thursday (4) Wednesday
Options :
536228113, 1
536228114.2

536228115.3
536228116. 4

Question Number : 29 Question Id : 53622830 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

E e Bt e i B e o 22 D B 1 e B Rl e e e O o B = o B e A
(1) 7w (2) =FEm
(3) =W (4) =R

Options :

536228113. 1
536228114. 2
536228115.3
536228116. 4

Question Number : 30 Question Id : 53622831 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match the pairs in List I with the pairs of analogies in List IT

List I List IT
(A) Lazard : Reptile (I) Skating : Rink
(B) Tennis : Court (II) Haematology : Blood
(C) Bull: Cow (IIT)y Eagle : Bird
(D) Botany: Plant (IV) Wizard : Witch

Choose the correct answer from the options given below :

(1) @-@), B)-1I), (C)-IV), (D)-(II)
(2)  (A)-dD), (B)-IV), (C)-D), (D)-(I1I)
(3)  (A)-(ID), B)-A), (C)-AV), (D)-(II)
4  (A)-AV), (B)-d1I), (C)-aI), D)-@)

Options :

536228117. 1
536228118. 2
536228119.3
536228120. 4

Question Number : 30 Question Id : 53622831 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T 14 fan o aai =1 g I 6 2 o mmee gl | gafes i

A ai-11
(A) Forrer - wET @ T
(B) hmmE D) =eeres ;T
(C) =i : (ITl) 3 : 9&f
(D) ==t famm e @V) ST : ST

(D (A)-(D), (B)-(IID). (C)-(IV). D)-ID
(2) (A)-(II). (B)-(IV). (C)-(I). (D)-(11I)
3 (A)-(IID). B)-D). (C)-(IV). (D)-ID)
4 (A)-(IV). (B)-(III). (C)-dD). (D)-(D

Options :

536228117. 1

536228118. 2

536228119. 3

536228120. 4

Question Number : 31 Question Id : 53622832 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In computers, a DVD-ROM 1s :

(1) an optical storage media and it can be written many times.

(2) a magnetic storage media and it can be written only once.

(3 an optical storage media and it can be written only once.

(4) a magnetic storage media and it can be written many times.
Options :

536228121. 1
536228122.2
536228123.3



536228124.4

Question Number : 31 Question Id : 53622832 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Frgz H, 9 A4 91 - 79 (DVD-ROM) 2:

(1) U AT w2 Hite, 50 % 96 o =1 99091 2 |
(4) T gehe = ditea, T s ww e = w2 |

Options :

536228121. 1
536228122.2
536228123.3
536228124. 4

Question Number : 32 Question Id : 53622833 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

With regard to computer memory, which of the following statement(s) is/fare TRUE?

(A) Cache memory is “volatile’ memory.
(B)  Magnetic memory is ‘volatile’ memory.
(C) Flash memory is ‘volatile’ memory.

(D) RAM 1s ‘volatile’ memonry.

Choose the correct answer from the options given below :

(1)  (A)and (B) only (2) (D) only
(3)  (A) and (D) only (4) (C) and (D) only
Options :

536228125. 1
536228126.2
536228127.3
536228128. 4

Question Number : 32 Question Id : 53622833 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e T e A et e § B 2
(&)  F= I e oA 7

(B)  =rrhE HAHT ATeAEd AE E |

(C) & IO greress 2anl £ |

D) ™ (RAM) Fr=2res 590 2 |

+ra fo2 m T A B w@E = g

() === (A) @1 (B) 2 F3a D)
(8 = (A) #E (D) (4) = (C) 7 (D)
Options :

536228125. 1
536228126. 2
536228127.3
536228128. 4

Question Number : 33 Question Id : 53622834 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The Recycle Bin is an area in Windows OS that contains files deleted from the :

(A) hard drive
(B) Pen drive
(C) CD-ROM

Choose the correct answer from the options given below :

(1) (A) only (2)  (A) and (B) only
(3) (B) and (C) only (4) (A) and (C) only
Options :

536228129. 1
536228130. 2
536228131.3
536228132. 4

Question Number : 33 Question Id : 53622834 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fr—mmEte Toa fosrs OS | wF UHT &9 2 SR REd 52 TS WEe Al Ae
A) ==

(B) THTE

(C) drdi-Tm (ROM)

Hre T3 T T 8 F wE I g

1) FEE Q) (2) Fad (A) AT (B)

(3)  F= (B) 3% (C) (@) F= (A) #E (C)
Options :

536228129. 1
536228130. 2
536228131.3
536228132. 4

Question Number : 34 Question Id : 53622835 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct order of the following computer memories on the basis of increasing
memory access time (from low to high).
(A

) Registers
B) Main Memory
C)

-

( Secondary Memory
(D) Cache Memory

Choose the correct answer from the options given below :

1 (A, (©O). D). B 2)  (A). D). B). (C)
3 (©.®B). D). A 4)  B). (D). A). ()
Options :

536228133. 1
536228134.2
536228135.3
536228136. 4

Question Number : 34 Question Id : 53622835 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T Z0 UAEl THEE e (FW T afaw f 9w) F oman W fefatan e aede F wd wm i

(A) T

(B) =7 HEA

(C)  FHvsd Tmr
D) =

+= T2 T e § 5 TE I 9

(D (A). (C). (D). (B) @) 4. D). 3.
(3 (O ®. DA 4y (B). (D). (A, (©
Options :

536228133. 1
536228134.2
536228135.3
536228136. 4

Question Number : 35 Question Id : 53622836 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: Minimum number of bits required to store any 3-digit decimal number iz 10.

Statement IT: The data in a digital computer is stored in terms of bits/ bytes where one
PetaByte 1s equal to 25° bits.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I is incorrect but Statement IT is true

Options :

536228137. 1
536228138.2
536228139. 3
536228140. 4

Question Number : 35 Question Id : 53622836 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

9 31wy fEnm £
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Options :

536228137. 1
536228138.2
536228139.3



536228140. 4

Question Number : 36 Question Id : 53622837 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

India has huge Thorium reserve, a potential source of nuclear energy. This thorium reserve
is mainly confined in the

(1) rocks of Chhota Nagpur plateau (2) muds of Sunderban delta
(3) coastal sands of Kerala sea (4) =ands of Thar desert
Options :

536228141. 1
536228142.2
536228143.3
536228144. 4

Question Number : 36 Question Id : 53622837 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AT o ATE T G 6SE R, W1 R sNvan-sw 5AW 6 7 | AT HeE g w2 7

(1) DEEFE 99E % =S5 | (2) T Sod w AEs A
(8) = THE % e Wil § (4) 4R HeEae ® Wi H
Options :

536228141. 1
536228142.2
536228143.3
536228144. 4

Question Number : 37 Question Id : 53622838 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Identify the objectives specific to sustainable Development Goals among the following :
(A) Responsible consumption and production

(B) Life on land

(C) Improving maternal health

(D) Ensuring environmental sustainability

(E) Reduced inequality

Choose the correct answer from the options given below :

(1) (A). (B) and (E) (2)  (A). (C), (D) and (E)
(3) (B). (C). (D) and (E) (4) (A). (B). (C). (D) and (E)
Options :

536228145. 1
536228146.2
536228147.3
536228148. 4

Question Number : 37 Question Id : 53622838 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T 7 o waq fawm & = % waey fafte s $ = =
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(E) FEEEAT
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(1) (A.B) 77 (B) @ (@A) (©). D) 3 (E)

® (B, (), D) =" (B) @ (@A), ®), (©). ) 5K ®
Options :

536228145. 1
536228146.2
536228147.3
536228148. 4

Question Number : 38 Question Id : 53622839 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A) : Emissions from diesel vehicles are relatively less harmful to human health

in comparison to petrol vehicles.

Reason (R) : Emissions of hyvdrocarbons and carbon monoxide are inherently very low

from diesel vehicles.

In the light of the above statements. choose the most appropriate answer from the options

given helow :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

536228149. 1
536228150. 2
536228151.3
536228152. 4

Question Number : 38 Question Id : 53622839 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Fr 71 e RBu e 2 ¢ v ) st (A) S gE A (R) FE R
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Options :

536228149. 1
536228150. 2
536228151.3
536228152. 4

Question Number : 39 Question Id : 53622840 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R):

Assertion (A) : Solar ponds, store solar energy in the form of heat.

Reason (R) : Solar ponds contain water with definite gradient of salt concentration.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (4)

(2) Both (A) and (R) are correct but (R) i3 NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

4 (A) 1s not correct but (R) 1s correct

Options :

536228153. 1
536228154.2
536228155.3
536228156. 4

Question Number : 39 Question Id : 53622840 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

536228153. 1
536228154.2
536228155.3
536228156. 4

Question Number : 40 Question Id : 53622841 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following sectors contributed least to the global carbon dioxide emissions in the
yvear 2014 as per IPCC report?

(1) Transportation (2) Agriculture and forest land use
(3 Industry (4) Utility (Electricity and Heat Production)
Options :

536228157. 1
536228158. 2
536228159. 3
536228160. 4

Question Number : 40 Question Id : 53622841 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A1 o1 | # % TR % s, a9 2014 § AfFaE A sEsiTaEs seHs 0 HEenEd a0 5

() ol (2) o vd T 5 3w
@ =zm (4) T (A T A
Options :

536228157. 1
536228158.2
536228159. 3
536228160. 4

Question Number : 41 Question Id : 53622842 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What is the correct decreasing order of research paper publications among the following
BRICS countries?

(A) India

(B) China

(@ South Afriea

(D) Russia
Options :

536228161. 1
536228162.2
536228163. 3
536228164. 4



Question Number : 41 Question Id : 53622842 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TeAfeAfEs Toemr 2o 1 FFEH T F TREE % H9Y | 0 531 Hal HH 9 A7

d) wmA
®B) ==
(C) =& b
D) ==

= Tl T E HE s g

D Q). ®).(©). D @ (B. (D), (A).(C)
(3) (B). (A4). (D), (C) (4) (B). (A). (C). (D)
Options :
536228161. 1

536228162.2
536228163. 3
536228164. 4

Question Number : 42 Question Id : 53622843 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MHRD. Government of India. initiative e-ShodhSindhu provides students and researchers
access to

(1) Indian Ph.D thesis in electronic form
(2) e-Journals

(3) Plagiarism software
(4) Open source software for training in analytical techniques
Options :

536228165. 1
536228166. 2
536228167. 3
536228168. 4

Question Number : 42 Question Id : 53622843 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AT TR A HHIEA HAr -9 TR T - W AN SHdE Al T S9esd ] A
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@ i
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Options :
536228165. 1
536228166. 2

536228167. 3
536228168. 4

Question Number : 43 Question Id : 53622844 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following ancient educational institutions was situated at the banks of river
Ganga?

(1) Nalanda University (2) Pushpagiri University
(3 Vikramshila University (4) Takshashila University
Options :

536228169. 1
536228170.2



536228171.3
536228172. 4

Question Number : 43 Question Id : 53622844 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TATafEd § § FH-T1 TR iEE T T 6] F a7 T eE e

1) e v (2) TR fawataamea
(8) Torafoen fararEmes (4) T EratEeE
Options :

536228169. 1
536228170.2
536228171.3
536228172. 4

Question Number : 44 Question Id : 53622845 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

As per National Skills Qualifications Framework (NSQF). undergraduate B.Voc. degree
programme requires completion of how many credits of Course Work?

(1) 60 Credits (2) 80 Credits
(3 120 Credits (4) 180 Credits
Options :

536228173. 1
536228174.2
536228175.3
536228176. 4

Question Number : 44 Question Id : 53622845 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T T ATE FATE (T TH 9 UF) % A9EN, SE si-aww, (Sl w4 e uenss-we &

(1) 60==zm (2) 80 Fi=zm
(3) 120 %fszH (4) 180 wfszd
Options :

536228173. 1
536228174.2
536228175.3
536228176. 4

Question Number : 45 Question Id : 53622846 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MHRD. Government of India, Scheme- "ARIIA" stands for

(1) Atal Ranking of Institutions on Innovation Achievements
(2) Atal Research Initiative on Innovation and Academies

3) Academic Ranking of Indian Institutions Achievements
(4) Atal Ranking of Indian Institutions Achievements
Options :

536228177. 1

536228178.2

536228179. 3
536228180. 4

Question Number : 45 Question Id : 53622846 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

536228177. 1
536228178. 2
536228179.3
536228180. 4
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Question Id : 53622847 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage carefully and answer questions from 46 to 50.

Initially, most children want to do well in school. But the student who has experienced
consistent failure in the classroom tends to lower his own expectations concerning school
success. He may direct his energy outside the classroom to athletics or vouth gangs or to
other areas where he can experience the satisfaction of suceess. The student who has been
negatively evaluated in the classroom rationalizes that school is not important to him
because he believes it is impossible for him to succeed there.

If a student is to continue to expect to do well in school. he needs to receive some positive
evaluations for his academic performance. If an individual is to develop a positive concept of
himself as a student. he needs to perform competently and to receive evaluations that he
interprets to be positive within his own frame of reference. When the student is perceived as
a less competent learner, forces are set in motion that reduce the chances that his potential
will be developed to its fullest extent in school. The other students and his teachers may
come to view him as having less potential than he really has. The academic goals he sets for
himself and those that are set for him by his well-intentioned teachers may not sufficiently
challenge his true abilities. A student may divert his own personal resources to non
academic areas because he believes that success in academic subjects is not open to him. If
he does not applv his maximum efforts to learning school subjects, he may fail to acquire
some of the skills and knowledge he needs as a basis for further learning.

Sub questions

Question Number : 46 Question Id : 53622848 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
A student. who 1s consistently poor performer in the class room. will

(1) Strive hard to achieve his goals later.
(2) Lower the image of the school in his eves.
(3) Agzressively complete with classmates outside the school

(4) Not expect much success in the school.
Options :
536228181. 1

536228182.2
536228183.3
536228184. 4

Question Number : 47 Question Id : 53622849 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What is the likely impact of negative evaluation of the student in the classroom?

(1) He will be jealous of his classmates.

(2) He will divert his attention to other fields for success.

(3) He will perform well in athletics.

(4) He gets into a state of depression.

Options :



536228185. 1
536228186. 2
536228187.3
536228188. 4

Question Number : 48 Question Id : 53622850 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Positive evaluation of a student’s academic performance will help him to
(1) perform well in future also

2) take up athletics

3 make friends
4) be considered as a role model by other students
Options :

536228189. 1
536228190. 2
536228191. 3
536228192. 4

Question Number : 49 Question Id : 53622851 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
When a student is considered as less than competent what can be the outcome?

(A) He may feel that his potential is not properly assessed.
(B) He may think that others do not want him to succeed in academics.
(C) Others in the school may rate his potential less than what he actually possesses.
(D) He may divert his personal resources to non-academic areas.
Options :
536228193. 1
536228194. 2

536228195. 3
536228196. 4

Question Number : 50 Question Id : 53622852 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The gist of the passage 1s that

(1) A less competent student should seek his future in areas other than academics.

(2) He should put maximum efforts to have a successful academic performance.

(3) Teachers should motivate him to use his personal resources properly.

(4) He should evaluate his own skills and knowledge as against teacher’s expectations,
Options :

536228197. 1
536228198.2
536228199. 3
536228200. 4

Question Id : 53622847 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 53622848 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
e T A AT T TR ST TE e,
(1) =% FieT 95 0T, (999 % 918 3 a8 79 @59 9T = 5 |
(2) S T H The] %1 TidEd AReaE B A |
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Options :
536228181. 1
536228182.2

536228183.3
536228184. 4

Question Number : 47 Question Id : 53622849 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

536228185. 1

536228186. 2

536228187.3

536228188. 4

Question Number : 48 Question Id : 53622850 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tl T = SAfew foEa = TR geae o 9w -
(1) s § o swa o #om |

(2)  vofzad # 9R wEH 2

(3) T F

(4) S S 2T Us AR AT UiEaET o S |



Options :

536228189. 1
536228190. 2
536228191.3
536228192. 4

Question Number : 49 Question Id : 53622851 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

536228193. 1

536228194.2

536228195.3
536228196. 4

Question Number : 50 Question Id : 53622852 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
536228197. 1
536228198. 2

536228199. 3
536228200. 4
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